T\'\V‘ee Pairs og‘ j,zu§va\enf equations
—— Z

@E%u\va\enf b)/__acﬁch'\’ion
o L@ +h(x) = 3(1) with  doman D

Q) ¥(x\=3(x)—h(x§ with  domain D

@ EzulVa\en+ b)/ \mu\ﬁf\'\caﬁon
® h (x) -?(JL) = 3(1\) with  domain D
x) ‘
) —@(ﬂz % with doman D

<I? h() has ho Zeros In D>

@_Eclui\lalen‘l' b)/ invertible function
Q \'\(‘Y’(J‘-\) '-‘-3(15 Wi‘Hr\ domain D

e fe)= H'l( %(JL\) with  dowman D



_F&Ej'_" Eiuivalen‘f' eZua‘Hons have +the same

dow\ains and sets o—p SOIu—l'ionS‘.

To -pincl Solwh'ons op eZua'l'ionS'-

@ Write down the domain op )/ouf‘ ezua+ion.

@Consﬂ'ucf o Sezuenca oQ ezuivalen'f
eq uations thot Ferminates n an eas/

eiuod'ion +o Qincl solutions —For.

The Solutions o¥ +he ‘pinal ezua‘l'ion,

with the demain $rom (D, ave the
solutions o Hre oﬁs’ma\ ezua-i-ion_

No‘t‘e.‘. IQ you evNevr \AoNe an CZMO.’HOY\ o£ f:o[/nomia\s/

sub-l-rad’ O Po|7n0m3a| +o0 obtain P<">=O,
then find  +he voots of P(,L)

EXQMEIQ F The ezua‘ﬁon 2x%-x =5x+7 is
ezu'walen‘i‘ b/ aoU'n‘h'on to  the ezua.'h'oh
2x% x —(51+73= Cx+/ -(5::+7>, which s?»»\rl.'g);cs
to 2x2-63-7=0. We can £ind the 2w solutions

to 22*-6x-7=z0 b ‘pinJ.'mj the Yoots Og; 212'61’7.
Thot will S‘NC us 1{; solutions of 22%-x=5x+7.



